P-1II (1+1+1) H/20 (N)
2020
SOCIOLOGY (Honours)
Paper Code : IV - A & B

(Urban and Industrial Society in India)
[New Syllabus]

Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).
Subject Code : |IIl|A |& |B

Subject Name :

® Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is “CORRECT” answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.
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Paper Code : IV - A
Full Marks : 20 Time : Thirty Minutes
Choose the correct answer.
Each question carries 2 marks.

Answer all the questions. 10x2=20

1. Urbanization —
(A) Has been the cause of industrialization
(B) Started as a result of modern industrialization
(C) Existed in India before industrialization and the western impact

(D) All of the above

2. Which theorist speaks of ‘Urbanism as a way of life’?
(A) Karl Marx
(B) Louis Wirth
(C) Homer Hoyt

(D) Peter Burgess

3. The process of urbanization is characterized by

(A) Development of trade

(B) Development of centres around a city
(C) Rural to Urban Migration

(D) All of the above
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4. Which of the following is not an ancient city of India?
(A) Madurai
(B) Hampi
(C) Chandigarh
(D) Ujjain
5. Urban community is characterised by —
(A) Homogeneity
(B) Agriculture
(C) Informal relationship
(D) Social complexity

6. Which of the following is less in urban life?
(A) Loss of humanistic value
(B) Impersonal relationship
(C) Informal relationship
(D) Competition

7. The degree of urbanisation of any given community is indicated by its —

(A) Population size

(B) Population density

(C) Population heterogeneity
(D) All of the above
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8. The Minimum Wages Act came into force in the year
(A) 1920
(B) 1948
(C) 1900
(D) 1720

9. What are the functions of trade unions?
(A) Protection and security of workers
(B) Wage bargaining
(C) Labour welfare
(D) All of the above

10. Which trade policy lead to the increase in import of goods in India?
(A) Trade Liberalization
(B) License Raj
(C) Fair Trade
(D) All of the above
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P-TI (1+1+1) H/20 (N)
2020
SOCIOLOGY (Honours)
Paper Code : IV - B

(Urban and Industrial Society in India)
[New Syllabus]

Full Marks : 80 Time : Three Hours Thirty Minutes

The figures in the margin indicate full marks.
Group -A
Answer any five questions, taking at least fwo from each section. 12x5=60

Section - I

. Define Urban Sociology. Discuss the nature and scope of Urban Sociology.
4+8=12

. Discuss the patterns of classification of Indian towns and cities in terms of their

size and function during pre-independent era. 12

. Write an essay on the major urban problems in India. 12

. “Urbanism is a way of life” — Elaborate. 12
Section - 11

. What is Industrialization? Discuss its impact on family. 4+8=12

. What are the major impediments of industrialization in India? Discuss. 12

. Discuss in brief the changing social background of Indian labour. 12
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8. What is liberalization? Assess the major impacts of liberalization on Indian

Industry. 12
Group-B
9. Answer any four questions from the following : 5x4=20
(a) Distinguish between Rural and Urban Society. 5
(b) Identify the major factors contributing to the growth of slums in India.
5
(c) Discuss the role of push and pull factors as a process of urbanization.
5
(d) Discuss the nature of urban family. 5
(e) Identify the social factors of absentism. 5

(f) Write a brief note on liberalization, Privatization and Globalization (LPG).
5

(g) Write in brief formal and informal organization. 5
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